

Thank you for allowing me to bake your event sweet! We appreciate your business.

Customer

Love's Travel Shop - Attention: Vernealia Store234@loves.com

Invoice Details

PDF created May 15, 2024 \$265.60 Service date May 16, 2024 **Payment**

Due May 14, 2024 \$265.60

Items	Quantity	Price	Amount
1/4 Sheet Cake Feeds Roughly 50 People	1	\$100.00	\$100.00
Marble Cake Half "Happy May Birthdays" Half "Happy Anniversary"			
Graduation Cupcakes	2	\$30.00	\$60.00
Subtotal			\$160.00
Rush Fee & Delivery			\$100.00
Service Charge (3.5%)			\$5.60

Total Due \$265.60





We appreciate your business.

Customer

Krystal McDade 979-274-9382 **Invoice Details**

PDF created May 15, 2024

\$85.00

Service date May 13, 2024

Payment

Due May 15, 2024

\$85.00

Items	Quantity	Price	Amount
6" Heart Cake Vanilla Cake Chapter 23 Season One	1	\$85.00	\$85.00
Subtotal			\$85.00

Total Due \$85.00





We appreciate your business.

Customer

treemonisha Briscoe 979-999-9999 **Invoice Details**

PDF created May 15, 2024 \$120.00

Service date May 20, 2024

Payment

Due May 15, 2024

\$120.00

Items	Quantity	Price	Amount
6" Heart Cake 2002 Acrylic Topper	1	\$100.00	\$100.00
Cookies 1 Dozen Strawberry Cookies with Glaze and cookie crumble	1	\$20.00	\$20.00
Subtotal			\$120.00

Total Due \$120.00





We appreciate your business.

Customer Charlisa Gibbs 979-412-4353 Invoice Details
PDF created May 15, 2024
\$125.00

Service date June 1, 2024

Payment
Due May 15, 2024

\$125.00

Items	Quantity	Price	Amount
10" Round Picture Cake Buttercream Icing Red Velvet Top Write Twenty One and cross out the one Cake Color Red	1	\$125.00	\$125.00
Subtotal			\$125.00

Total Due \$125.00





We appreciate your business.

Customer Cristal King 979-999-9999 Invoice Details
PDF created May 15, 2024
\$95.00

Service date May 16, 2024

Payment

Due May 15, 2024 \$95.00

Items	Quantity	Price	Amount
Cupcakes	1	\$25.00	\$25.00
Custom Sugar Cookie Cutouts **MUST BE SPECIAL ORDERED - PLEASE COMPLETE THE SPECIAL ORDER FORM***	2	\$35.00	\$70.00
Buttercream icing or royal icing. Custom decorated gourmet sugar cookies perfect for any occasion! Each delicious cookie is made to order. The standard size cookie ranges from 3.5 - 4.5 inches.			
Subtotal			\$95.00

Total Due \$95.00





We appreciate your business.

Customer

James Walker 504-338-9839 **Invoice Details**

PDF created May 15, 2024

\$42.00

Service date May 12, 2024

Payment

Due May 15, 2024

\$42.00

Items	Quantity	Price	Amount
Candied Fruit We have multiple candied fruit options for you to choose from. One candy topping per order.	1	\$15.00	\$15.00
*** Please Note- candied Fruit such as pineapples and sliced kiwi will only last a couple of hours before they begin to breakdown. These are meant to be consumed same day/next day. *** Small Container - Grapes			
Strawberries	1	\$24.00	\$24.00
Per dozen. Specialty themed orders need a 2/3 week advance notice to ensure all the needed supplies. 50% deposit is required at the time of booking with the remainder due at time of pick up/delivery	1	Ψ24.00	φ24.00
Service Fee	1	\$3.00	\$3.00
Subtotal			\$42.00



Total Due

\$42.00



CADES GRADUATION

Customer

Jennifer Flentge 979-877-8703 **Invoice Details**

PDF created May 15, 2024 \$0.00

Service date June 15, 2024

Payment

Due May 15, 2024

\$0.00

Items	Quantity	Price	Amount
Subtotal			\$0.00

Total Due \$0.00





We appreciate your business.

Customer

Nikki 979-999-9999 **Invoice Details**

PDF created May 15, 2024

\$105.00

Service date May 25, 2024

Payment

Due May 15, 2024

\$105.00

Items	Quantity	Price	Amount
Boozy Cupcakes Infused cupcakes are great for parties, holidays, nights out, etc. These cupcakes are Infused with alcohol and come with one shot (pipette) filled with alcohol in each cupcake.	3	\$35.00	\$105.00
Must be 21 & over to order. Bourbon Pecan			
Added Bottles	1	\$0.00	\$0.00
Subtotal			\$105.00

Total Due \$105.00





We appreciate your business.

Customer

Brandy Martinez 979-999-9999 **Invoice Details**

PDF created May 15, 2024 \$140.00

Service date June 8, 2024

Payment

Due May 15, 2024

\$140.00

Items	Quantity	Price	Amount
4" / 6" Cake Dinosaur Theme	1	\$140.00	\$140.00
Subtotal			\$140.00

Total Due \$140.00





Bridal Cake and Treats.... TBD

Customer

Charlisa Gibbs 979-412-4353 **Invoice Details**

PDF created May 15, 2024

\$0.00

Service date June 22, 2024

Payment

Due May 15, 2024

\$0.00

Items	Quantity	Price	Amount
Subtotal			\$0.00

Total Due \$0.00





We appreciate your business.

CustomerSylvia Briscoe
979-999-9999

Invoice Details
PDF created May 15, 2024
\$120.00

Service date June 16, 2024

Payment

Due May 15, 2024 \$120.00

Items	Quantity	Price	Amount
8" Princess Cake Vanilla Cake w/ Buttercream	1	\$120.00	\$120.00
Subtotal			\$120.00

Total Due \$120.00





We appreciate your business.

Customer

Charlisa Gibbs 979-412-4353 **Invoice Details**

PDF created May 15, 2024

\$0.00

Service date June 2, 2024

Payment

Due May 15, 2024

\$0.00

Items	Quantity	Price	Amount
6" Sailing Cake	1	\$0.00	\$0.00
Subtotal			\$0.00

Total Due \$0.00





We appreciate your business.

Customer

Charlisa Gibbs 979-412-4353 **Invoice Details**

PDF created May 15, 2024 \$210.00

Service date May 25, 2024

Payment

Due May 15, 2024

\$210.00

Items	Quantity	Price	Amount
6" Heart Cake Graduation Cake Red Velvet Pink / Gold - Hello Kitty	1	\$110.00	\$110.00
Custome Sugar Cookie Cutouts	1	\$40.00	\$40.00
Dipped Pretzel Rods	1	\$30.00	\$30.00
Dipped Rice Krispies	1	\$30.00	\$30.00
Subtotal			\$210.00

Total Due \$210.00





We appreciate your business.

Customer

Nikki 979-999-9999 **Invoice Details**

PDF created May 15, 2024

\$85.00

Service date April 27, 2024

Payment

Due May 15, 2024

\$85.00

Items	Quantity	Price	Amount
1/4 Sheet Cake Half and half	1	\$80.00	\$80.00
Edible image	1	\$5.00	\$5.00
Subtotal			\$85.00

Total Due \$85.00





We appreciate your business.

Customer

Judy Compean 979-999-9999 **Invoice Details**

PDF created May 15, 2024 \$150.00

Service date April 27, 2024

Payment

Due May 15, 2024 \$150.00

/	Price	Amount

Items	Quantity	Price	Amount
8" Base Cake	1	\$100.00	\$100.00
Vanilla			
Cupcakes	2	\$25.00	\$50.00
Thia is for basic cupcakes with frosting. If you would like them to be them specific, please complete the Specialty Order Form.			
Regular (\$20.00 ea.)			
+ Flavor 1			
+ Decor Picks (\$5.00 ea.)			
Subtotal			\$150.00

Total Due \$150.00





We appreciate your business.

Customer Sharon Stark

BSSLC 281-254-3492 **Invoice Details**

PDF created May 15, 2024

\$110.00

Service date April 27, 2024

Payment

Due May 15, 2024

\$110.00

Items	Quantity	Price	Amount
8" Base Cake Vanilla	1	\$100.00	\$100.00
Cow Decor	1	\$10.00	\$10.00
Subtotal			\$110.00

Total Due \$110.00





We appreciate your business.

Customer Sharon Stark BSSLC 281-254-3492 **Invoice Details**PDF created May 15, 2024

\$65.00

Payment

Due May 15, 2024 \$65.00

Items	Quantity	Price	Amount
Cupcakes	2	\$25.00	\$50.00
2 Dozen TBD Flavor and color			
Cupcakes	1	\$15.00	\$15.00
Half Dozen Cupcakes			
Subtotal			\$65.00

Total Due \$65.00





We appreciate your business.

CustomerBrittany Green
979-779-7777

Invoice Details
PDF created May 15, 2024
\$36.00
Service date February 23, 2024

Payment
Due May 15, 2024
\$36.00

Items	Quantity	Price	Amount
Candied Apple Bling Stick and Clear Boxed Valentine Themed 3 Pink and 3 Red	6	\$6.00	\$36.00
Subtotal			\$36.00

Total Due \$36.00



view.



We appreciate your business.

Customer Cristal King 979-999-9999 Invoice Details
PDF created May 15, 2024
\$360.00
Service date February 24, 2024

Payment

Due May 15, 2024 \$360.00

Items	Quantity	Price	Amount
2 Tier Cake 4/6 Blue with elephants baby shower cake	1	\$145.00	\$145.00
2 Tier Cake Anniversary Cake Blue and Gold 6/8 inch cake	1	\$175.00	\$175.00
Special Ordered Decorations	1	\$40.00	\$40.00
Subtotal			\$360.00

Total Due \$360.00



view.



We appreciate your business.

Customer

Brittany Green 979-779-7777 **Invoice Details**

PDF created May 15, 2024

\$36.00

Payment

Due May 15, 2024

\$36.00

Items	Quantity	Price	Amount
Candied Apple 3 pink 3 red Valentines themed with bling stick and box	6	\$6.00	\$36.00
Subtotal			\$36.00

Total Due \$36.00





Birthday

We appreciate your business.

Customer
Judy Compean
979-999-9999

Invoice Details
PDF created May 15, 2024
\$180.00
Service date February 17, 2024

Payment
Due May 15, 2024
\$180.00

Items	Quantity	Price	Amount
6" Cake Vanilla/Almond Flavor Black and gold Themed 6 Dipped Berries Edible Image	1	\$100.00	\$100.00
Cupcakes Black & Gold	2	\$25.00	\$50.00
Hennessy Bottles	3	\$10.00	\$30.00
Subtotal			\$180.00

Total Due \$180.00



view.



Birthday

We appreciate your business.

Customer Charlisa Gibbs 979-412-4353 Invoice Details
PDF created May 15, 2024
\$0.00
Service date February 9, 2024

Payment

Due May 15, 2024 \$0.00

Items	Quantity	Price	Amount
6" Cake	1	\$0.00	\$0.00
Subtotal			\$0.00

Total Due \$0.00





Basketball Senior Night

We appreciate your business.

Customer

Phylicia Gooden 979-574-6081 **Invoice Details**

PDF created May 15, 2024 \$80.00

Service date February 1, 2024

Payment

Due May 15, 2024

\$80.00

Items	Quantity	Price	Amount
Custom Sugar Cookie Cutouts	2	\$40.00	\$80.00
Jersey Cookie- Gooden 12			
Basketball Cookie- Ka'Lann			
Square Cookie- Vikings Logo - Edible Image Shaped Cookie- Senior 2024			
Colors - Navy Blue, White, Silver			
Subtotal			\$80.00

Total Due \$80.00





1st Birthday - Cars Themed

We appreciate your business.

Customer

Keonna Johnson 346-257-5286 **Invoice Details**

PDF created May 15, 2024 \$106.00

Service date January 27, 2024

Payment

Due May 15, 2024

\$106.00

Items	Quantity	Price	Amount
Oreos This is for basic Dipped Oreos. If you would like them to be specific, please complete the Specialty Order Form.	1	\$25.00	\$25.00
Rice Krispy Treats This is for basic Dipped Rice Krispies. If you would like them to be specific, please complete the Specialty Order Form.	1	\$25.00	\$25.00
Individual Wrapping	2	\$3.00	\$6.00
Cupcakes Race Car Themed Half and Half Vanilla / Chocolate	2	\$25.00	\$50.00
Subtotal			\$106.00

Total Due \$106.00





Birthday

We appreciate your business.

Customer

Payton Canchola pccanchola14@gmail.com 979-877-4929 **Invoice Details**

PDF created May 15, 2024 \$105.00

Service date January 27, 2024

Payment

Due May 15, 2024 \$105.00

Items	Quantity	Price	Amount
6" Cake Shark Themed 5 Years Old Name- Bryce	1	\$90.00	\$90.00
Cake Decorations	1	\$10.00	\$10.00
Delivery	1	\$5.00	\$5.00
Subtotal			\$105.00

Total Due \$105.00





Baby Shower

We appreciate your business.

Customer

Vernealia Manuel 979-267-0189 **Invoice Details**

PDF created May 15, 2024 \$80.00

Service date January 20, 2024

Payment

Due May 15, 2024

\$80.00

Items	Quantity	Price	Amount
Candied Grapes Bagged separately 5 Grapes per bag Matching cardstock Themed Wonderland	10	\$8.00	\$80.00
Subtotal			\$80.00

Total Due \$80.00



view.



Birthday

We appreciate your business.

Customer Lenora Valdez 979-661-4980 Invoice Details
PDF created May 15, 2024
\$200.00
Service date January 21, 2024

Payment
Due May 15, 2024
\$200.00

Items	Quantity	Price	Amount
2 Tier Cake 6"/8" Red bottom tier with Roses Chocolate Bottom tier	1	\$190.00	\$190.00
Real Roses on Top Vanilla Top Tier with Strawberry Filling			
Bling Ribbon	1	\$10.00	\$10.00
Subtotal			\$200.00

Total Due \$200.00





Birthday

We appreciate your business.

CustomerBurnerdett Hayes
BSSLC

BSSLC 901-239-0724 **Invoice Details**

PDF created May 15, 2024 \$80.00

Service date January 20, 2024

Payment

Due May 15, 2024 \$80.00

Items	Quantity	Price	Amount
Cake 6" Cake, Vanilla, Purple and Gold Color	1	\$70.00	\$70.00
Toppers Happy Birthday 35	1	\$10.00	\$10.00
Subtotal			\$80.00

Total Due \$80.00





Baby Shower

We appreciate your business.

Customer Brittany Flentge libbo7@yahoo.com 979-451-9069 Invoice Details
PDF created May 15, 2024
\$0.00
Service date January 6, 2024

Payment
Due May 15, 2024
\$0.00

Items	Quantity	Price	Amount
Cake 8 Over 6	1	\$0.00	\$0.00
Sage Green, White and browns			
Cupcakes	1	\$0.00	\$0.00
Subtotal			\$0.00

Total Due \$0.00





We appreciate your business.

Customer

Patresa Cornelius 979-999-9999 **Invoice Details**

PDF created May 15, 2024 \$87.00

Service date January 6, 2024

Payment

Due May 15, 2024

\$87.00

Items	Quantity	Price	Amount
6" Cake Red Velvet Cake Black and gold 27th Birthday Crown Royal Bottles	1	\$75.00	\$75.00
Crown 50ml Bottles	3	\$4.00	\$12.00
Subtotal			\$87.00

Total Due \$87.00



view.